


AL A] x—4y+6 =02 TH2E T off, E AFRH-ES 2}
Exz] 12 %9

@ A 1, 3AHEH @ A 2, 4421

@ Al 1, 4AHEE @ A1, 2,3 HEH

® A 1, 3, 4AHEH



x Awo] 3 0|1, y Ao 9 o AHS THLL She ke

Fotofet.

®y=-3x+9

@ y=3x-9

@ y=-3x-9

® y=3x



4. T

oo

Z DTt DA A 4x + 2y — 20 = 0 T 2 Z2?

® y=2x+10 @ y=-2x+10 ® y=2x-10

1
@ y=-2x-10 @y:§x+10



@ x=-3 ® x=14

®y=1

®y=4

@ y=-3



S %y 7 x o] A

4
rO
L
tlo
H
4n
Ui
i)
o

@ YWHIT =o]7F 22 2em @F xem Q1 A2 9] o=
yem? O],

© 7Fzoh M=) Z0l7k 212t sem 9k xem 91 AAFZ R
o] yem? o]t}

© y=x(x-1)

® w3 =7t x9Y W, 629 Fta= ydolrh

@ #AE°] xem ¢l 25429 Yol yem? o]t}

Bs:
:
B
:
B
:



Fod=t.

S

o x AWS T

==



)
m

o#@

£ o
2 o
N = ©
-
s

_—

1_5 )
dﬂlﬂuu

w1 °
LB o .
a£ow_1_
__ﬂ7m
Yﬂomﬂ S
(oo
mma.uprw
oeuL, 5
~®E ©




9.

[ [orol oA Ao 2 Hdofat,

AAG y = ax + b (a £ 0) A 71271= [G), x

|
=

el

ro

©]




10.

) 7‘1]1/\]'—5"15 @ 7\1]2 }\]'Tv]:_‘—‘?i
@ A3 AHEH @ AR

® A2 AR A4ArER



1 _ - _
y=x-3,y= —Zx+29]ry—f—2§— S A 9] Holg



(a+1)x+3y+6 =02 T =7}
e, a9 F2?




13.

Al B8y =
o] "ole?

@

‘»—l
w|l o
(e}
®

2, —x+y=-42x+y=-69 IHZZ FH#<I



29

At ofmf, m 2] gk

[e]
)8

bE A

<]



Ay = 3x-291°]
Ak A4

A Aa, 4)8t
Yy =1x

o]
=
_|_

7
N

St

=

=
=

A~

T

o
L

y:
=0
=2 A

—2x +49]9]
th. a+b+i+s



